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Time : 3 Hours Max. Marks : 150

Note : (i) The candidate has to answer 10 gquestions @ 5§ questions from
Section | and § questions from Section II. Each question earries
10 marks.

{ii) The candidate has to answer all the 4 gquestions compulsorily from
Section Il

(iii) Give the steps of calculation in each question for Section I and II.
fiv) Calculators, not programmable, are allowed in the examination.

() The RQuestion Paper (s set in English and translated into T‘elugt}
language. The English version will be considered as the authentic
version for valuation purpose.
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SECTION 1
gedsa 1

f
'\D{a} Three partners Ravi, Chandra and Shekhar start a business. Thrice Ravi's

capital is equal to four times Chandra's capital and Chandra's capital is
thrice Shekhar's capital. Out of a total profit of ¥ 16,500 at the end of the
year, what is Ravi's share ?

OR
(b) A pereon invests a part of ¥ 15,000 in 12% stock at ¥ 150 and balance in
15% stock at ¥ 180, If his total dividend per annum is ¥ 1,240, how much
does he invest in 12% stock 7
(2) &2, o ook Apl wid dulid gridrgine o8 agrddy Mo
wgo. &2 ::gnms sy Odu, orenih Bdw Do Donds Shrdhe
ooy Yol guwd Hps Dioads drd B, Soddyoroddud
dwdaw ordfiw T 16,500 wondind woths® 8D erdSod 7
dor

() =% 58 T 15,000 od® Sod yri&ui ¥ 150 Tiyps 126 FHs Dok
SOADR grAdeie T 180 FHpd 15% Sodd fodhd Tl 8D
Roddyorod orarodin T 1,240 sawd, wdd 12% FHS* Jod Ll
S 7

-.\E < {a) The difference between compound iutems_t and ni_rn;ple interest on a sum
for 2 years at 12% per annum, when the interest is compounded annually,

is ¥ 25. If the interest is compounded half-yearly, what would be the
difference between the two types of interest ?

OR

(b} The difference between compound interest and simple interest accrued on
an amount of ¥ 25,000 in 2 years is ¢ 640. What was the rate of interest

per annum 7
(9) JodEyEHuds: 2830 54 oD, Fod Inddy D HodSyords
12% $§ Ty 2 :’mﬁ:ﬁ;da&m S|Ehd Bodok u-tsmgu Fesn v 25,
S8 sf JoSEYER0IH 250 MDdold S|ESE Hbaky wrdibde
Hedod 7
s

(B) T 25000 &5 2 Hod&ybiwedH Mmdodd W|ESd ook wrdsde
Pl T 640 wowd, HodEySEnsh 54T Jod ?
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Probability of him being selected by firm B is 0-8 and rejected by firm A
is 0-4. Probability of atleast one of his applications being rejected is 0-7.
What is the probability that he is selected by cne of the firms ?

OR

{b) Data on a magazine readers show that the-proportion of male readers
under age 40 is 0-45 and over age 40 is 0-25. If the proportion of readers *
under 40 years is 0-80, find the proportion of female readers under age
40 years.

(D) &8 SHYEBS 2025 A Ddok B sd Dod Hojod” afgidnis
St JHF3L. edd B Sopd JobE Wabwd Hozridgd -8
fboin A Hoid BEHDodwd Jogrdgd 04, e8) Sbprd Sadds
O wf SoPd 885 0odwd Soprdgd 0-1. ¢ aocudd I8 &8 SoPd
Sob¥ Dabad Soprdgd Do ?

o

(D) o8 o852 FBHeD HEOODD Hrordihn S5Chn 40 Sobs)dtve
fom)  dEpd Sobs Mo Hbh Fdho 0ndEhy 045 O
40 SoBdBine o) b Sobiv do HAR FEho eI S 0-25.
40 Hodsydhve Lom S¥nD Hobd Ko FEho edSiy 080 vowd
40 Soddyshve Eom Snd Sabid o by Féhe e Ein Jod ?

@u} The Banker's discount on some amount for 1% years is ¥ 558 and the true
discount on the same amount for 2 years is ¥ 600, What is the discount
rata ? '

@ {a) An Engineering graduate applies for a job in two firms A and B.

OR

(b) Guoods are brought for ¥ 500 and sold on the same day for T 500 at a credit
of 9 months and thus gaining 2-5%. What. is the rate of interest per
annum 7

(D) Fod Mwgdn p 13 SodSTNE wrgosh orond T 558 ook wd
BEodiud 2 HoddySived eder crond T 600 sond ocrows T
o ?

. dor

(£) Sdod 600 b ) off b 7590 & wly o Jwddud 9 ool

sl adnd  Hod 25% oPin Jodd. DodSydIedd 54
TéRod 7
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A car owner buys petrol at T 1775 P, ¥ 18:50 P and ¥ 19-90 P per litre for

* three successive months. If the owner spends ¥ 11,000 each mnn.ih for

petrol, what is the average cost of petrol per litre ?
OR

12 years ago, the average age of a family of 4 members was 26 ]I‘EBI'B-. Two
children were born with age difference of 3 years. The present average age
of the family is the same. What is the present age of the first child ?.
of 5% obmird HHIm Srd Jven Dol BE'wH T 1775 B,
T 1850 . suboln T 1990 . ofh 3% » s cbedrd JoD
T 11,000 SHyd bif'w T phyy IS bod pStw SHw §8
wod 7
dor

12 Soddyoro (Bdin 4 Sfgw fo DHivondn ¥ Sl Db
26 Roddyorw. agdh dow Hwrd Soddyore Hord alodo.

[Sodidn v Hdvow Hge Mo Hok Lrar od (26 HoddSEud)
IEE Boedin Gl DS S Jod ?

E

SECTION II
griide 11
Regult Mumber of Students .
Section A | Section B |Section C|Section D
Students failed in both exams 38 a3 27 a7
Students failed in half-yearly
exams but passed in Annual 24 22 18 23
|exams
Students passed in
half-yearly exams but failed 16 27 19 25
in Annual exams '
IEltudanta passed in both T4 85 56 -
exams

Answer the following questions based on the above table :

(i) How many students are there in the class 7

(if) Which section has the maximum failure percentage in
half-yearly examinations ?

Which section has the maximum success percentage in the annual
examinations ?

the

(iii)
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{iv) Which section has the maximum pass percentage in atleast one of
the examinations 7 '

(v} If number of students passing the examinations is considered as
eriterion for comparison of difficulty level of the two examinations,
which examination is more difficult 7

OR

ib) Production of three different flavours of a soft-drink by a company over
gix years (in lakh bottles) is represented by the following diagram :

m- ————— __Eu ————————————
% 5
("
s01-v1 |-=--- - o --ﬁm----ﬁ, e
45 1 a5 ;
40) 7 F’i" ’
,lu...-"II - ...;_i __fd "_.-"': =
[ ry ﬁ ] }-"_, ]
% % / % #
a0 - 4] - -~ ——4; = =] -.ﬁ -=
# ] ] L]
% % % % % %

] I_,J": ’
2D A R-VB--AR--VB-B--V1B--
AN B R RN
I’ /3 r".ll:" ..-""' ; L~
1wi-+1 B--- -1 B--- ﬁ . e

e
A W7 2 B W
A
. % / %
1999 2000 2001 2002 2008 2004

E flavour X D flavour ¥ l flavour &

Answer the following questions based on the above diagram information :
(i} For which year is the percentage of relative gain or fall maximum
in the production of flavour X ?

(ii) For which flavour is production maximum in the given period of
6 years 7

(iii) Total production of flavour ¥ in 2001 and 2002 is what percentage
of the total production of flavour Z in 1999 and 2000 ?

{iv) What is the difference between average production of flavour ¥ in
1999, 2000 and 2001 and average production of flavour X in 2002,
2003 and 2004 ?

(v) What is the percentage of decline in the preduction of flaveur & in
2004 when compared to 1999 7
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Distribution of area (in acres) under various crops is shown in the
following pie diagram :

Answer the following questions based on the above pie diagram :

(i)

(ii)

(iii)

(iv)

Which combination of food crops contribute to 60% of the total area
under food crops 7

If total area under Bajra was 1-5 million acres, then what was the
area under wheat ?

If production of Rice is 6 times that of Barley, what is the ratio
between the yield per acre of Rice and Barley 7

If total area goes up by 5% and area under Rice production goes
up by 12%, then what will be the angle for Rice in the new
pie-diagram ? '

OR
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Ratio of Exports to Imports of two companies over & I}'EI:I‘E {in T crores) is
given in the following figure.

L e N e e e R R T R = o - o

i i O e -

Ratio of Exports to Imports
=]
&

u,iﬁ_q e e S S S S S =

Answer the following questions based on the above graph :

(i) In how many years were exports more than imports for Company
AT

(ii) For Company B, which year has the maximum difference between
imports and exports ?

(iii) If exports of Company A in 2004 were T 250 crores, what was the
amount of imports that year 7

{iv) If the imports of Company A in 2003 increased by 40%, what
would be the ratio of exports to the increased imports ?

(v) In 2001, exports of Company A were twice that of Company B. If
imports of Company A during that year were ¥ 200 crores, what

was the approximate amount of imports of Company B during that
year ?

g P.T.O.
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@ 20 Sobe (B0l SRS Hrd (JELwoS’) b (808 B (pie)
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(2) | udh S058)diued’ Todk Soe Hbbde shldoh Dnd (2 5'es’)
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(iv) 2003 & JobSyEdns® Do A dng) BihSdes 40% LOASHDH, u
B0y VOAS BhdodH IHdo M8 Jod 7
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poRdydan Jop A o) Ol T 200 Fan wondid, w
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Each of the following sequences follows a definite pattern. Fill in the
blanks to complete the sequence without breaking the pattern.

(i) 1, 6, 13, 22, 33,
(i) W,V,T, 58 QP N, M
fiii) OTE, PUF, QVG, RWH,
(ivi If ‘+' means ‘+', =' means ¥, ‘+' means ‘=" and "%’ means '+’ then

E+B68+4-Txrxd=

(v}

OR
(i) In a certain code, SIKKIM is written as RHJJHL. How is
TRAINING written in that code 7

{ii) If GIVE is coded as 5137 and BAT is coded as 924, how is GATE
coded 7

{iii) In a certain language, if 943 is coded as BED and 12448 iz coded
as SWEET, how is 492411 coded in that language ?

{ivl If "book” is called “watch”, “watch” is called “bag"”, “bag” iz called
“dictionary” and “dictionary” iz called "window", what is used to
carry books 7

{v) Give mirror image of the word “MONDAY".

|Bod mfgadd (28 (A8 o pSRY (Shin fod. o |Shiw
Sdyoar wrbol Jroofyie.

(i 1,8 13, 22, 33,
i) W, V. T, 5 Q, P, NN M,
(iii) OTE, PUF, QVG, RWH,

fiv) 4+ @Sm 4, = edm %, Y edmr 2 b ¥ oedm 4
woudint 8 + 6+ 4-Tx3=
(v} ‘ 1

s

12
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@L’i] 28 o38¥ rdd® SIKKIM e S&dwd RHIHL wd [,

8. (a)
(b}
SAE-106

TRAINING e SSdwd o (@ obiB ?
(ii) GIVE e H&85w% 5137 en Sbole BAT wi 5850 024 o
'8 dnddyt, GATE e S&5Hnd o ddomr 55 Dalgsoie 7

(iii) =¥ Aro¥af pras® 9043 % BED wd, 12448 5 SWEET el E°E
Hnddydy 492411 2 0 DSdwr 56 Dabgdads 7

(iv) “DRZdw” H “Adofrdin” e, "fAafrdsy” & "Hod" wd),

“God") “divoluR)” e, “Vivotniy” B “BYE" o) HOISHE
Dsiad SR %05 N0 adcrfodid ?

(v} “MONDAY" e 565058 edind'™D d8Douiud (oo,

Each of the following sequences has a definite pattern. Fill in the blanks
without breaking the sequence.

iy 2,6.9,_ .2, 27

() Z U, Q, - F

(jii) fA+B>C+D, B+E=2CandC +D > B + E, then
A+ B>

{iv) If L' denotes <, 'M' denotes ‘%', P denotes '+' and ‘Q' denotes -,
then 16P24MBEQE6M2ZL3 =
(v) 5

OR

(i} In a language MWATURE' is coded az 'MASUQE'. Then how is the
word FAMINE' coded 7

(if) In a code language ‘123" means ‘hot filtered coffee’, ‘316" means
‘very hot day' and ‘689" means ‘day and night', then what digit
stands for ‘very’ ?

(i) Give water image of -1

(iv) If ‘orange’ is called ‘butter’, ‘butter' is called ‘spap’, 'scap’ is called
‘ink’, ‘ink" is called ‘honey' and ‘honey’ is called ‘orange’, then what
is used for ‘washing clothes' ?

(v} If ‘SHARP is coded as ‘58034' and PUSH' is coded as ‘4658', then
what is the code of 'RUSH' 7

13 P.T.O.
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Ecar:i abgads (H8 @SS of pOyERS Fhdy Kok, u (S
85 yHoar wr ol Hrooiin,
AN &
@ 259 ‘B 20, 27

i
Tay z, Uy e L
i) A+ B>C+D, B +E=2C &0cfC+D>B+E, wouds
A+B>
(iv) U eSte % &, M effin ¥ &, P efSin v S Hbok Q
widin - B Ardoddyd 15_?_24 Illl_ﬂﬂﬁlﬂﬂliﬂ =

iv) 5

o

(i) ¥ rads® NATURE ed SShod ‘MASUQE' wd 56 dhdddk
FAMINE' s 588w owg), 56 228 ?

(i) o8 roFBE rRd’ 128" widm B Dol =0 ©d, 916" edm 36
S5 @ wd Lboky ‘689 i ‘H wob I8 sondHd BH el
SSE0S Ardod wol 28 7

i) g & TEnh dS* HoDouind oy,

(iv) ‘Sdordoin’ & ' e, B B Dwy 6D, Doy L Do 8d,
DoY & 'E3 ol ook @R L Ehordoiw’ e, HOINH®
pben ‘adHoy ) >ast 7

(vi ‘SHARP wiv H&iwin ‘58034" mip, PUSH e Ddiw o 4658
i 856 dbdpd RUSH Glvg), &6 2 ?
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@[a} The following information was provided by an investigator who interviewed
1,000 students. 811 read Hindustan Times, 752 read Statesman and 418
read Times of India. 570 read Hindustan Times and Statesman, 366 read
Hindustan Times and Times of India, 348 read Statesman and Times of
India and 297 read all three papers. Is there any inconsistency in the
above information 7

-~ OR
(b) 1,000 persons in a European country were interviewed by an investigator
to find nationality of the music they liked. The following results were
obtained. 570 liked English music, 650 likéd French music, 480" liked
German music. 440 liked English and French music, 360 liked French and
German music, 240 liked English and German music and 125 liked all the
three natiops’ music. Is the information consistent ?

()] 1,000 Dod Ddogheod BOFES dud o S0FEHE 300
S EhadByh. 811 ol drodirs Bl D@8 SOBEH, 752 wwod
RENES H@ Sonsdh Diaky 418 hob By up odalr SEIEL.
570 o8 IroddrS B&ny wbol s I038&%, 366 wob
SrofedrS BS 0ok S5y b aodofr SOBEH, 348 Hod PEMS
by 58 ¢ mcdolr GOISH 2Oodw 207 Soh fards d@Ewr
HERE%. & Srodind’ JDe sdondd Soo ?

dor

L HOFSLd ohrSe'D of F%ins® 1,000 Hod SpHed oo F4
Sohs 53 oD DorBod & |Bob Jdrorddn HELoDARG. 570
H08 mofids Hofddu, 850 od (Wod Sofiddniks, 480 Hod =S
Hohdind =080, 440 ob mofidy #wbake (Pod Hofdiwin, 360
Lol (PoS Hdaky 28 HoAddwi, 240 Dod mofidn Ldoy aH)S
Sohdind Dbofn 125 Dod dwrd: Jwe Sofiddod =gdi0. &
o e ;’}Dagﬁ 0hSe 7

SAE-106 : 15 P.T.O.
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SECTION III

gredisa 111
Read the passages and answer the five questions on each passage.

rn:m% = 50 marks

11. India has made an impressive progress in narrowing gender and social gaps in
primary education. Progressive policy, sustained public financing and civil
society’s determination have contributed to the improvement. But the persistent
achievement gaps in secondary education between boys and girls and across
gubgroups underscore the need to reassess educational policies affecting
under-represented groups. The implications for policy are clear. First, India
must complete the task of bringing primary education to all. With only 7
percent of children now out of school, the government must deal with the most
marginalised and hard to reach. Targeted demand-gide interventions addressing
the needs of each subgroup are needed to bring all children inte the school
gyetem and keep them there. Second, India must raise student achievement in
primary schools. Without a solid formation, girls and other marginalised groups
cannot compete at the next level, and they lose out in the labour market. Early
childhood interventions can improve school readiness, compensatory education
and language instruction for students whose first language is not that used in
school. More and better teacher education and in-service training are essential
to .address girls' learning needs. Third, to achieve gender and social parity in
secondary education, India must improve its public schools. Because parents are
reluctant to pay to send their daughters to private schools, improving
government schools will give girls from poor or disadvantaged backgrounds a
better chance to succeed. Although using vouchers and stipends is an option
where the supply of private schools is sufficient, this alternative is unrealistic in
remote, rural areas. Government schools remain the provider of last resort for
marginalised groups.

Questions :

(a) Suggest policy changes for reducing gender and social gaps in education.
(h) Give two important suggestions to provide primary education to all.

{c) In what way will the teacher training improve the quality in education ?

{d] What are the reasons for parents not preferring their girl-children being
sent to private schools ? '

(2} Which one do you prefer, improving the conditions in government schools
or giving stipend to students to encourage them to go to private schools 7
Why ?

SAE-106 ' ; 18
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Qb Hols ﬂ'g.ﬂ'ch&: (passages) &3, ard OMGE 3D B {ﬁﬁ:’ﬁ
ey [araXvsiu.

ard Do (rEoE Do aﬁggﬁ' B9l Spergdren, PEral dgergiro
égaﬁﬁuﬁ‘ fmoubdd 48 Foolod. |PHBY0 Joaw, PR |Dbds
Bé8 Dooodion 2boy 8 Jdrw Jgio Hﬁ;‘a&%ﬁ &8ydoron. s
Srgges DEgS* wewrdio Dbk sdShrFe odE HEHASW
dgergrdy HoDoldgond, |8ddge B0 dgrom Berddo Jalued &d
Dorgderardy WSt H0RDoUDObS wdigid S PhHEcs. dgreronod
ufod |[Byrarer Syfomr asvjon. Sogduds, HDE g d4od® wolind
wothwrtns®s dod. Pdin dH TEho dgokh IMEDH Nig vodertnd
B, s Pehdgin e SEuds Hiah DEzh soberdDE ol
dored S)h yooord. B8 ) Sducrdd wdipidd S)pS" aobED,
o O5uosdd Domgdorddy SWE BLLLY) oIS soder Fowrd.
Godisd wrdd s | SEhE dETod” Doyl a8der IS LoD
dg e Tho¥ wrdiw Lok FJfwdd dgro oo SH30 Q‘cmé"
SyQouds ook =@ |wibE Ao bed® Siderd. wrugo BUSESTS
3ot seEgsire Sdhdode dorghor v88 DHdhoded svE S0HFaEE
(compensatory) &g @Oy grar DoFrara) Dodrodothb ﬁ‘ﬁ;}m.
Soggor byo adE h, w68 addrfod (Gl wrad ady
Sgegrdy & [Sihole Sy Yroodddnd. wdic  dopdloofimi
gargrgaive DHAS Hdg8 e edddo. Lwrddd, drdgnd S Dok,
FireE Shrdd Dodrobodbe® rdd ddo (Dhdy dTood wdBd
S6erd. JothEST SDSoker S& Hiirfo FEH du) sipdhd PP
(hebdpdd) wiboh Sopbdh Jwepdd BrHdisods he fbafu b
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12. The Indian Government, committed for the upliftment of the poor and weaker
sections of the population, has been implementing development programmes
since independence. Swarnjayanti Gram Swarozgar Yojana (1999) aimed at
helping poor rural families cross the poverty line by assisting them to take up
income generating economic activities through a mix of bank credit and subsidy.
A few other initiatives include the introduction of National Food Security Bill in
the Parliament, Indexing wage rates under the Mahatma Gandhi National
Rural Employment Guarantee Act to consumer price indices for agricultural
labour, introducing pre-metric scholarships for students belonging to Scheduled
castes and tribes and expanding the scope of Rashtriya Swasthya Bima Yojana
— state health insurance scheme.

Swarna Jayanti Shahari Rozgar Yojana (1997) intends to provide gainful
employment to the urban unemployed and underemployed by encouraging the
setting up of ventures of wage employment. The Government of India has
implemented a scheme under Jawaharlal Nehru National Urban Renewal
Misgion (JNNURM) in 63 cities having population of more than 10 lakhs
focusing on the integrated development of mega infrastructure and services for
the socio-economic growth of the country. It is agreed to ensure public-private
partnership under JNNURM in Solid Waste Management sector, followed by
Sewerage and Water Supply and Urban Transport. Integrated Development of
Small and Medium Towns scheme has been subsumed in the new scheme of
Urban Infrastructure Development Scheme for Small and Medium Towns since
2005 - 06. No allocations are being provided now under the Scheme and the
residual work is being attended.
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While the action plan for controlling black money is expected to send out &
positive signal on corruption, announcing transfer of cash subsidies to the poor
is expected to do the same on delivery of public services. Subsidies provided
through the budget on refined petroleum products [e.g. kerosene and liquefied
petroleum gas] have often been criticized for their inability to reach the
targeted beneficiaries. But providing direct cash subsidy to the poor for availing
these commodities will serve two purposes. First, only the poor will benefit
from the facility as intermediaries will be removed. Second, the subsidy bill in
the budget will be reduced leading to a reduction in revenue and fiscal deficits
of the Government. The effectiveness of the system will depend upon accurate
identification of people below the poverty line. This is not easy in a huge
country like India. The Government's long-term plan may be to identify the
targeted people for subsidies.

Ruestions :

{a) How do you consider income generating programme as a development
programme 7

(b} Distinguish between the nature and type of Swarnjayanti Gram Swarozgar
Yojana and Swarna Jayanti Shahari Rozgar Yojana.

(e} Can the public and private participation ensure integrated development of
mega infrastructure and services in urban areas 7

(d) Does the provision of direct cash subsidy to the poor ensure their availing
kerosene and liquid petroleum gas ?

(e) Suggest suitable measures for the accurate identification of people below
the poverty line in India.
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13. Human trafficking in India, whereby children are traded for eriminal acts,
points to organised trafficking gangs. Children are not only used as slaves, but
are also being used as modern day criminals to inflict violence on others, for
theft and robbery — an issue that has not often drawn public attention as of
yol.

Aceording to the National Crime Record Bureaw, 32,681 juveniles are arrested
by the police every year in India on charges of murder, rape, dacoity, robbery,
burglary, theft, hurt and other crimes. Six percent of them are girls.
Poverty and illiteracy were the two main causative factors behind this. In all,
27 percent of the arrested juveniles were illiterate, 37 percent under primary,
72 percent from the BPL families, 68 percent from the middle income group
and 0-2 percent from the high income group. The ill-effects of juvenile
delinquency ean be mitigated if the fundamental prineiples for the
administration of juvenile justice are put into practice.

The amended Juvenile Justice (Care and Protection) Act empowers the Juvenile
Justice Boards (JJBs) to take cognizance of acts of cruelty against children.
Yet, neither the Police nor the Boards have bothered to look into the
involvement of organised groups or non-organised individuals. It is essential for
the authorities to prepare Social Investigation Reports (SIRs) and "Social
Background Reports (SBRs) of children involved in such cases to assess the
guantum of child abuse. In cases wherein SIRs and SBRs confirm the role of
adults, it is imperative for the JJBs to act against such adults so that no child
is exploited for hisher vulnerability and then be punished for it in the future.

Hence, it can be concluded that trafficking in human beings especially children
is a form of modern day slavery and requires a holistic, multi-sectoral approach
to address the complex dimension of the problem. It is a problem that violates
the rights and dignity of the victims and therefore requires, essentially, a
child's rights perspective while working on its eradication. In the fight against
trafficking, government organisations, non-government organisations, eivil
society and international bodies; all have to play an important rele. Law cannot
be the only instrument to take care of all problems.

Questions ;
{a) What are the reasons for child trafficking in India ?
(b} What are the charges under which police are arresting children ?

(e} What solutions do you suggest to improve the economic condition of poor
parents ? '

{d) What is the role of the government to address the problem of juvenile
delinquency ?
(el What role can civil society play to prevent child trafficking 7
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14. The relevance and usefulness of content to meet the local needs of people are
very important in making a creative use of techmology for achieving the
developmental goals. There are several projects in India that focus on a pro-poor
approach in service delivery. One of the initiatives is given below : ) =
g LA
Housing for the Poor : India has an ambitious programme to help poor
households in acquiring a low cost house. There are schemes involving large
subsidies to construct these houses for the poor. Considering the very large
number of beneficiaries in these schemes, there always exist some possibilities
of wrong targeting and misuse of subsidy. A web-enabled system gives project
management and MIS support to the executing body in the government, and
also enables equal access to ecitizens, beneficiaries and civil society in obtaining
information. This system can be used to get up-to-date information about a
beneficiary, stage of construction of a house, details about the money released
as subsidy, materials supplied by the executing agency, and relevant
photographs that can be easily uploaded. This governance initiative results in a
high degree of transparency and accountability of government functionaries
towards the poor.

Questions :
{a) What aceording to you is governance and good governance ?

(b) List out some of the other schemes in which technology can be used in
India.

{c)  What is the role of technology in governance 7

(d) * Advice the government in developing mechanisms for better citizen servico
delivery using technology.

{e} "“It is said that technology replaces human resources thus leading to the
wastage of abundant resource in the Indian context” Comment on this
statement and suggest remedies for the same.
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